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N.B. : (1) All questions are compulsory.

Con. 2-14. . ~ RS-6630

(OLD COURSE)

(2) Figures to the right indicate full marks.
(3) Both the sections should be written in the same answerbook.

: Section I . .
1. (a) Identlfy the dli’ferent types of minorities in India. v 6
OR
(@) Discuss how Indian somety is multl-cultural in nature. ,
(b) /V<’hat is alcholism ? Why do people drink ? : 8
s - OR .

(b) - How AIDS is transmitted ? How can it be prevented ?

2. (@ ‘Regional imbalances are the major causes of regionalism in India’. Discuss. 8
_ OR -
(@) Explain the main features of communalism-as inter group conﬂlct ‘
(b) Why do people smoke ? 4
OR

(b) Explain the problem of aged.

3. (a) Explain various types of khandicapped. 8
I " OR
(@) Discuss the role of youth in promoting communal harmony. '
(b) - What measures have been adopted to the welfare of senior citizens ? 4
‘ : OR ’
(b) Explain the effect of Child Labour.
4. (a) How National Iﬁtegraﬁoﬁ can be promoted in Indian society ? 8
OR '
(a)- Write a note on women and mass media.
(b) What is meant by drug addiction ? : 4
OR :

(b) What are the legal protection to children in India ?

Section IT
5. (a) Explain the advantages of multi-national companies. 6
OR
(a) Explain the term Liberalization and discuss important changes brought about after
Liberalization.
(b) What are factors of socialization ? 8
OR

(b) Examine Maslow's theory of self actualization.

0,
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6. (a) What is Privatisation ? How can-privatisaﬁon be achieved 7 8 oo
(a) Discuss the impact of globalization on employment in India. ‘ A ‘
(b) Discuss various sources of stress. ' : 4

OR | | |
(b) How can time be best managed ? - , A .

7. (a) Explain the term globahsatlon What are the impact of globahsat:lon on-Indian 8
: agnculture ? ’
OR
(@ Explain the impact of globalisation on culture.
(b) Explain the term aggression and violence. o ' 4 |
OR A !
(b) How is stress managed ? ' -

8. (a) Explain thé effect of urbanization on health. - 8
OR '

(@ Discuss in detail the causes and consequences of migration. :

(b) What is IQ ? How it is measured ? 4

OR : ‘

(b) Discuss conflict of motives.
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(REVISED COURSE)
3 Hours) [Total Marks : 100

N.B. : (1) Attempt any three questlons from question Nos. 1 to 5 from section I
(2)  Attempt any three questions from question Nos. 7 to 11 from section I1
(3) Question No. 6 in section I and Question No. 12 in section II are compulsory.
(5) Figures to the right indicate full marks.
(6) Both the sections should be written in the same answerbook

Section I ,
1. Discuss “Unity in Diversity’ among Indian people. 12
2. 'What are the causes of decline sex ratio in India ? 12
3. Explain the characteristics of ‘Caste’ and ‘Caste system in India’. 12
4. Explain the various problems faced by Indian political parties. 12
5. Explain the various features of Indian Constitution. : | 12
6. Write short notes on the following (any two) :— , _ 14
(a) Effects of smoking.
(b) Problems faced by aged.
(c). Causes of Drug Addication.
(d) Consequences of Child Labour.
Section IT ,
7. Explain Privatization. Discuss the advantages of privatization. 12
8. Make an inquiry into the Right of Equality as enshrined in the Indian Constitution. 12
9. Define Environment and explain its nature and scope. 12
10. Discuss various techniques of stress management. 12

11. Explain the term ‘Realistic Goal setting’. Discuss the factors that influence realistic goal 12
setting.

12. Write short notes on the following (any two) :— 14
(a) Effects of globalisation on health.
(b) Impact of globalisation on agriculture.
(c) Effects of Migration.
(d) Disadvantages of GM crops.
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(3 Hours) . [Total Marks : 100

“,N.'VB : (1) Question Nos. 1 and 7 are compulsory.
~ (2) Attempt any two questions from the remaining from both the sections. |
?3) Flgures to the right indicate full marks. . |

Section I |
1. (@) Explain briefly the following (any four) : — - - "
(i) Cardinal Utility . - ;
(ii) BudgetLine | |
(iii) Indifference Curve
.(iv) Iso-quantCurve
_ (v) Opportunity Cost
(vi) Social Cost.

(b) Distinguish between (any two) : — 6
(i) Total Utility and Marginal Utility
(ii) Consumer's Surplus and Producer's Surplus
(iii) Fixed and Variable Cost.

2. (a) Explam the properties of indifference curve. 8
(b Denve the demand curve from price consumption curve (PCC) [
3. (a) Discuss different types of Price elasticity of demand. . 8 ‘
(b) Explain various methods of demand forecasting. 8 :
- 4. (a) Whatis least cost combination ? Discuss the conditions for producer’s eqﬂibrmm 8
- (b) Explain the various economles of scale. - 8
5. (@ Explain behawour of cost curves in the short run. 8
- (b) Discuss the salient feautures of Long—run Average Cost (LAC) curve. 8
'6. Write notes on any two of the following — - | A 16 ‘
(a) Consumer Equilibrium
(b) Promotional Elasticity of Demand
(c) Law of Variable Proportions | :
(d) Learning Curve. : [TURN OVER
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(b)

8. (a)
®)

9. (a)
(b)

10. (a)

(b)

11. (a)
(b)

Con. 40-RS—6544-14. | 2
Section II
7. (a) Explain briefly the following (any four) : —

(i) Total Revenue

(ii) Normal Profit
'(iii) Excess Profit

@@v) Oligopoly

(v) Multi-product Pricing
(vi) Pay Back Period Method.

Distinguish between (any two) : —
(i) Firmand Industry
(ii) Average and Marginal Revenue
(iii) Marginal Cost Pricing and Full Cost Pricing.

Explain different objectives of a firm.
Explain the concept of Break-even analysis.

What are the features of perfect competition ?

Explain long-run equilibrium of a firm under perfect competition.

Distinguish between Monopoly and Monopolistic Competition.
Explain price rigidity with the help of kinked demand curve.

Discuss different degrecs_of price discrimination.
Explain the meaning and importance of capital budgeting.

12. Write notes on ahy two of the following -

(a) Relationship between AR and MR under monopoly
(b) Dumping

(¢) Transfer Pricing

(d) Net Present Value Method.

12
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(a) Consumer's Surplus

(b) Producer’s Equilibrium

(c) Fixed Cost and Variable Cost
(d) Objectives of a Firm.

Q0

" Con. 40-14. 5 RS-6544
(REVISED COURSE)
' (3 Hours) [Total Marks : 100
N.B. : (1) Question Nos. 1 and 7 are compulsory.
(2) Attempt any two questions from the remaining from both the -sections.
(3) Figures to the right indicate full marks.
Section 1
1. () Explain briefly the following (any four) : — 12
(i) Demand Function
(ii) Production Function
(iii) Iso-quant Curve
(iv) Opportunity Cost
(v) Marginal Cost
- (Vi) Total Revenue.
(b) Distinguish between (any two) : — ' 6
' (i) Income Elasticity of Demand and Cross Elastlctty of Demand -
(ii) Economic and Accounting Cost
(iii) Average Revenue and Marginal Revenue.
é. ‘(a) Explain different degrees of Price elasticity of demand. | 8
" (b) Explain various methods of demand forecasting. 8
3. (@ Discuss the Law of variable proportions. 8
(b) Explain the various economies of scale. - 8
4. (a) Explain why LAC curve is known as a Planning Curve. 8
(b) Discuss the concept of Producer's surplus.
5. (a) Discuss the relationship between TR, AR and MR under monopoly. 8
(b) Explain the concept of Break-even analysis. 8
6. Write notes on any two of the following — 16

[TORN OVER
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Section 1I
7. (a) Explain briefly the following (any four) : —

®

8. (2
(®)

9. (a)
)]

10. (@)
®)

11. (a)
(b

(i) Perfect Competition

(i) Selling Cost |
(iii) Kinked Demand Curve
(iv) Dumping

(v) Market Failure

(vi) Capital budgeting.

Distinguish between (any two) : —
(i) Monopoly and Discriminating Monopoly
(ii) Production Cost and Selling Cost
(iii) Marginal Cost Pricing and Cost Plus Pricing.

Explain equilibrium of a firm in the long-run under perfect competition.

Explain the meaning and features of oligopoly market.

Explain the short-run equilibrium of a monopoly firm. -

- Discuss the wastes of monopolistic competition.

Explain the concept of market failure and inefficiency.
Explain the role of government intervention in economic development.

What is the importance of capital budgeting ?
Describe the Pay Back Period method of project appraisal.

12. Write notes on any two of the following -

(2) Features of Monopolistic Competition
(b) Multi Product Pricing

(c) Causes of Market Failure

(d) Net Present Value Method.

12
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| Coli. 159-14. T@MN ' - RS—6648

' | : (3 Hours) - [Total Marks : 100 -

N. B (1) Answers any two questions from Section L
' (2) Answers any three questions from Section II.
(3) Write Section—T and Section—II separately on same answer book
(4) All questlons carry equal marks.
(5) Figures to the right indicate full marks to a sub=qucstlon
(6) Graph papers will be provided on request -
(7) Use of non-programmable calculator is allowed

L.

(@)

- ®)

@

C ()

2@

®)

FOR

Section I

A Salesman gets 5% commission on first ¥ 25 000/~ 8% on the next ¥ 25, 000/~ and 12%
on the excess. He also receives an incentive at the rate of 4% on total sales, ifit exceeds
% 60,000/-, Find the total earnings of the salesman on total sales ¥ 68,000/-.

A piece of land was sold for T 40,00,000/- through the agent who charges 2. 5%
brokerage from the buyer and 2% brokerage from the seller. Find the amount paid
by the buyer. Find also the amounts reoewed by seller and broker.

A goods is marked 60% above the cost price, T 400/- itis sold with 20% trade discount
-and further discount of 8% for cash payment. Find the percentage profit.

A trader allows 25% discount on list price and a further discount of 10% on cash

payment. Find the cost price of an article which is listed for T 1,200/~ and is sold _'

w1th a proﬁt at the rate of 30%.

Mr. Sahil purchased 500 shares of Hindusthan Liver Limited Company at the market

price at ¥ 1,600/- before the date of dividend declaration, The company declared 20%

dividend on the face value. Of the share % 100/- after one year he sold all the shares
at market price of-T 2,000/- each. He paid 0.2% brokerage on both the transactions.

- Find the total earning in ﬂms transactlons

Mr. Soham invested 2 18,000/- in a mutual fund on 5% April, 2008 thh NAV of
* ¥ 76/- and.entry load of 2.25% of a NAV. He sold all the units on 2274 September,

2008 w1th a NAV of ¥ 98/- without any exit load. Find his total gain.

Dally requirement of certain person is atleast 30 units of vitamins, 60 units of

" Carbohydrates and 50 units of minerals. He meets this requirement by taking two
types of foods packets, food A and food. B. Food A contains 3 units of vitamins, 5
units of carbohydrates and 4 units of minerals. Food B contains 4 units of vitarnins,.

* 7 units of carbohydrates and 4 units of minerals. The costs are per packet of Food

A %.50/- and Food B ¥ 75/-. Formulate the above llnear programmmg problemto

' minimize his expendlture

(@

_by graphical method.

Maximize Z = 5x+3y,subjccttox+yx5andx+2y<7 x>09y>0 Solvext

LR

2
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- (a) Flnd the derivative of given function with respect t0 X =
_ x> +4x—1
3x-35 .

(b) The total cost function is given by C = X2 +12x + 64. Fmd total cost, average cost

- and marginal cost if . ,

(c) Find the elastlclty of demand 1f D=P2+P, m

‘(d) Examine the maxima and minima using sufficient condmons the function :—
Fx) = 2x3 — 9x% — 24x + 11.

4. (a) Ajay borrowed T 50,000/-, partly at 8% p a.and the remainingat 9% p.a. after- 2 ! year.
He returned the total amount with a total simple interest of < 1C ,500/-. Find the amounts
" be borrowed at each of these rates.
(b) Find the maturity amount after two years of fixed dep031t of T 20,000/- at the rate
. of interest 9% p.a. :— -
() Compounded yearly
_ - (i) Compounded half yearly. ‘ | o
(c) Find the sum of annuity of ¥ 8,000/- payable at the end of each year. For 4 years if
B the interest rate is 4.8% compounded semiannually.

(d) AHero Honda Motorcycle is purchased by taklng a loan of T 40, 000/- for four EMI-
at the rate of 24% per annum On reducing balance basis. Fmd the equated monthly
installment. :

‘ Secti()n 1I
5. (a) Define. sl.allsucs and descrlbe functlons of statistics.

(b) Tabulate the following information. In 2010 out of total of 3000 workers in a factory,
2300 were skilled workers. The number of women employed was 300 of which 250
were unskilled. In 2011, the number of skilled workers was 2750 of which 2500 were

- men. The number of unskilled workers was 760 of which 300 were women.

" (c)* Calculate three quartiles graphically for the following data :— . ‘

Class ' 0—50 50-100 100-150 150-200 | 200-250 250-300
Frequency 12 18 28 - 32 16 14
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T 6. (@) Calculate mode and median for the following data :~ _ 6
.. |_Daily wages in T . 200-300 300-400 400-500 500-600 | 600-700 700-800
- - No.ofEmployees | 15 | 26 36 20 8 5 _
" .ZL.(b) . Calculate quartile deviation and coefficient of quartile deviation for the following data:~ = 7
Class . . 0-50 - 50-100 100-150 | 150-200 200-250 250-300
Frequen‘c'y_"»' e ‘10- 16 28" 22 14 10
(c) Find standard dev1at10n and coefﬁclent of variation dlstrlbutlons for the followmg —
Class 1nterval - | 0-10 10-20 -~ | - 20-30 30-40 40-50 50-60
Frequency - 8 14 20 18 10 10
(a)" Describe the following terms :—
(i) Sample space
(i) Complementary events
(iii) Exclusive events.
(b) Two dice are rolled. Find the probablhty that the sum of their upper most faces is :— 7
(i) Evennumber :
(i) Divisible by 4 | __
'(iii) Divisible by 3 and 4. ‘
(c) For the following data, find E(x) and V(x) = 7 .A
X [1]2]3]4]|5]6
{11111
™ |5lsl3|5]|5 |5
8. (@ ' What is correlation ? Explaih typeé of correlation. 6
- (b)  Find the rank correlatlon coefficient for the followmg data :— 7
X 35 42 1513813525 ] 28 [30 [ 32 36
Y 12 [ 18 [ 1719|181 20 | 19| 16 | 21 | 20
(¢) Find the regression equation. for y on X for the following :— “ -
X 113141819 11 |
Y 1 1214157 8
[TURN OVER
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9: (a) Deﬁne Index number and describe the types of Index number. : - .f ‘6
o (b) Calculate four yearly moving averages for the folloWing‘ data :— ‘ | 7
. Year 1980 | 1981 | 1982 11983 | 1984 | 1985 | 1986 | 1987 | 1988 | 1989 | 1990
Sales (in crores) | 242 | 250 253 249 | 254 | 256 | 250 257 - 262_ ‘ 268 ] 280
(©) From the following data, calculate the cost of living index number :- | ]
. ' : Price . ' '
G , —t W t
roup Base | Currentyear | - .elgh
Food _ 5 12 | 60
' Clothing 16 30 5
Fuel 10 25 110
Rent 1 20 | 60 15
Miscellancous | 18 36 1 10
- 10. (a) ,Expiain the following term :— ' | . 6

(i) State of nature
(ii) Pay of matrix
(m) Decision making under risk.

(b) Construct the opportunity loss or regret table and find the best act usms? minimax 7 :
criteria from the following pay-off table —

Stat: :ttl'l :ztmn El E | E | E
A > |18[12[14[09
A, 151411 |11
A T13[16{17]16
T Ag 14[15[16 |17

() A busmessman has option to buy 2-plants The choxce depends on the expﬁcted sale
volume. The pay of matrix is given as :— ‘

Plant Demand
B Low | Moderate | High
Al -5 5 | 20
A2 | 2 8 | 8.
Probability{ 0.3 | 04 | 03

Construct a decision tree and recommend which pian,t should be bought,

®
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N B. : (1) Answers to the two sections should be written in the same answer book.
- (2) Figures to the right indicate full marks.

Section 1
1. (a) What is meant by communication ? What are the elements or components of 8
communication ? ‘
OR
Write short notes on any two of the following : —
(i) Importance of e-mail
(ii) Gesture and Posture
(iii) Written and Oral Communication
(iv) Barriers to Communication. :
(b) What is conference ? State the advantages and disadvantages of conference. 7
' OR
Write short notes on any two of the following : —
(i) Advantages and disadvantages of Interview
(ii) Preparation to be made by the Interviewee
(iii) Advantages of Committee
(iv) External Public Relations. -

2. Write notes on any three of the following :— 15
(a) Advice and Counselling
(b) Group Discussion
(c) Horizontal Communication -
(d) Internal Public Relations. -

3. (@ Whatis meeting ? State advantages and disadvantages of meeting. 10
. _ OR
(b) What is Public Relations ? State its ways of contacting to public.

4. Draft a notice and an agenda of the second meeting of your company and also draft the g
resolution for the following :
(a) Appointment of Auditor

(b) Appointment of new Secretary. v
' [TURNOVER
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- Section II

5. (a) Write a congratulatory letter to a business associate in another company for having 8
. secured a promotion in his job. '
OR :
Draft an open testimonial for your personal assistant who applied for steno-cum-
receptionist in your office.
(b) As a retailer of electronics. Write a letter of order of DVD players to shared 8
electronics company limited, Mumbai. Ask for prompt service.
‘ OR
~ Write a letter of complaint to the wholsaler stating that the order you placed for the
goods is different in quahty from that you received.

6. (a) Draftasales letter to promote the sales of mdxgenous herbal perﬁlmes manufactured 6
in your company. :
(b) You have received unfavourable credit information about M/s. Lunge and Co. Draft 6
a tactful letter to them, refusing credit but inducing to buy on cash basis.

7. (@) Youhave ordered Paithani sarees to Kothiwala Shalu suppliers, Dist. Aurangabad, and 7
after delivery, you have settled the bill. The suppliers, however, mistakenly sent the
reminder. Write a letter to them pointing out the settlement of the bill. ,

(b) You have been receiving Telephone bills for an amount of Rs. 5000/- evenly two 7 = :
- months. In spite of many complaint letter to MTNL Regional Office in-charge explaining -
fewer cells you make, there isno reply from them. Write a letter to the District F orum 7

for redren of grievance.

B

8 (@ A committee has appointed for manufacturing of new prdducts in the company. Draft 10
- areport as a Chairman on the salability of the product.
OR
(b) Write a report on the possibility of opening Xerox center in your college premises.
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" N.B. : (1) All questions are compulsory. .
(2) Figures to the right indicate full marks.

1. (@) Correct the following sentences : — S ' _ 6
' (i) Romeo are an honest person
(i) Juliet sing a song
(iii) Mumbai is an Capltal of Maharashtra

'(b) Fill in the blanks : — | | | ) 6
(i) Receiver sends _to sender (Message / Feedback).
(i1) A person who encodes is called (Sender / Receiver).
(iii) Sender sends the ~ (Message / Feedback).
2. Write notes on any Four of the following :— - 20
(a) Conference (d) - Horizontal Communication
(b) Encoding (e) Notice for a formal meeting -
(c) Feedback _ ® Report.
- 3. Discuss in detail the advantages and dlsadvantages of upward or downward communication. 10
' OR
Write a detailed note on 'Group Discussion'. ' , : o
4. Write a letter of apphcatlon in response to the followmg advertisement : — 10

"Wanted Sales-Executives, candidates should be a-graduate, smart and result oriented.
Knowledge of computer preferred. Write to Box No. L-540, The Times of India,
Mumbai-400 001."

5. Write any Four letters out of the following :~ 24

(a) Assume that you are working as a sales executive at ABC company. Now you want
to resign from the company for continuing your further study. Draft a resignation
letter to ABC company.

(b) Draft a complaint for the following : —
Mr. XYZ placed an order for ABC food processor by paying I4,000/-. The food
processor makes alarming noise while grinding. :

(c) Draft an attractive sales letter for XYZ washing machine'.

(d) Your mobile service provider has charged you ¥ 500/- for 'latest ringtones on
your mobile' facility, though you had not subscribed for it. Draft a redress letter

for this. [TURNOVER
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(e) Draft RTI queries for the following situation. You have applied for an N.O.C. for
a piece of land you purchased in Kalina, Mumbai. You have made several trips to
the concerned office, but in vain.

(f) Mrs. ABC has asked for replacement of her washmg machine which caught fire

as soon as it was swithched on. o
6. (2) Draftan individual report for "The condition of roads in Thane city". 6
(b) Draft the 'Notice' and 'Agenda’ for second board meeting of a company. Also draft 8

a carefully warded resolutions for any two items on the Agenda.

7. (@) A committee has been appointed to investigate the causes of declme in sales of your 10
company's product Write a report. '
OR
(b) For the academic year 2013-2014, a committee has been appointed to look into the
causes of the decline in results of ATKT college at Central University examinations.
Draft the report.
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(3 Hours) [Total Marks : 100

N.B. : (1) All questions are compuisory.
(2) Figures to the right indicate full marks.

Section I

1. Explain the meaning of the following terms (any five) — | 10
| () Project Report - (®) Economic Environment

(b) Growth - (g) Diversification

(c) Mission (h) Foreign Collaboration

(dy Takeovers (i) Incentives

(e) Mergers () Turnaround
2. Answer any three questions from the following :— o 30

(@) Discuss the nature of business.

(b) Explain the economic, political and Technological business environment.
(¢) Distinguish between economic objectives and Social Objectives.

(d) State and explain the steps involved in setting up of a business umt

(e) Explain the types of foreign collaboration.

(f) What are the factors influencing business growth ? Discuss.

3. Study the case in detail and answer the following -questions :—
L.G. elctronics is planning to consolidate some of its business. L.G. said it would
merge its home theatre, DVD and Blu-ray player business with its global No.1 T.V.
business as a part of its restructuring plan. It will also more its digital music player. Laptop
Computer and Setup box business from its digital media business to the telecommunication
network business setup boxes bring interent movie download to T.V. sets.

Questions :—
(@) Can it lead to new market ? 5
(b) Whose effect do you think it Wo_uld have on operating costs ? ' 5 |
Section II
4. Explam the meaning of the following terms (any five) :— 10
(a) Ethics i in Retailing () Merchant Banking
(b) B.PO. (g) Tourism
- (¢) Retailing - . (h) Insurance
(d) - Discount Stores- (i) E-Communication
(e) ATM. (G) Food Court
. [TURN OVER
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5. Answer any three questlons from the followmg — 30
' (@) Explain the functions of merchant banking.
(b) Discuss the different types of Insurance.
(c) What are the career options available in banking sector ? Explain it.
(d) Discuss the importance of Transportation.
(e) Distinguish between organised Retailing and Unorganised Retaﬂmg
(f) State and explain various types of tourism.

6. Study the case in detail and answer the following questlons —
The Gosey brown staff that ocean currents are depositing on to Goa’s beaches 1 is
turning people away. This could tend to a serious problem for the tourism industry
about 72% of the oil pollution is caused by vessels illegally cleaning their tanks
at sea. Scientists say that this coating on beaches of Goa affects natural life and
could be injurious to the health of people. Goa environment minister acknowledged
the problem but has expressed help-lessness. There are international protocols but
invariably they are 1gnored
Questlons — _
(@) Your own a hotel on the beach affected by this porblem-? What steps would 35
you take to attract tourists ?

(b) What effect you think it would have on tourism industry in Goa ? 5
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N. B (1) All questions are compulsory
(2) Figures to the right indicate full marks

Section 1

1. Answer any two questions from the followmg' — : 16
‘ (a) What are the functions of business ? Explain it. o
(b) Discuss the positive impact of privatisation. ' t
(¢) Explain the functions of WTO. ’ '

2. Answer any two questions from the following :— S 16 .
(a) Explain the importance of project planning. ’ '
. (b) What are the types of Entrepreneur ?
(c) Discuss the problems faced by women entrepreneurs

3. Write short notes (any three) — _ . : 18 -
| (2) Human Objectives. - - | : | | -
~ (b) Impact of education on business. | RO
(c) Positive impact of Trading Blocs.-
(d) Types of feasibility study.’
(e) Distinguish between Entrepreneur and Intrapreneur

Section I ~ o o

4. Answer any two questions from the following :— B - . 16
~ (a) Explain the characteristics of services. ' _
(b) Discuss the elements of marketing mix. - : e _ S |
(c) What are the career optlons available in Retallmg ? '

5. Answer any two questions from the followmg — , - 16 %
(2) Discuss the importance of FDL - ‘
(b) Explain the elements of Logistics. A
(c) What are the features of E-Commerce ?

6. Write short notes (any three) — L - - 18
(a) Scope of services ' : '
(b) Distinguish between Organized Retailing and Unorgamzed Retailing
(c) Arguments in favour of FDI in Retail
(d) Advantages of ERP system
() Advantages of on-line marketing research.

|
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Note: | | |

1) Attempt all quesuons from the following.
2) Figures to the right indicate full marks assigned to the questions.
3) Working note should form part of answer wherever it necessary.

Section-I
Q: 1: Following is the Trial Balance of M/s SAB Traders as on 31 March, 2014: . (18
Particulars ' Debit Balances (%) | Credit Balances (%)
Capital : ' : ' 1,25,000
Bank of India- ' ' 10,000 : ]
Bank of Baroda o 40,000
Stock (1.4.2013) : : 37,500 S '
Salaries N 15,000
Wages ' : 55,000
Rent, Rates and Taxes 5 5,000
Machinery ' 75,000
- Furniture 7,500
- R Power and Fuel 10,000 | - T :
Purchases and Sales- : 4,50,000° -7,50,600
‘Sales Returns and Puirchases Returns 37,500 25,000
Prepaid Insurance as on 1.4.2013 - - 1,500 =
Outstanding Wages as on 1.4. 2013 . : ' 3,750
Insurance : 3,750 ,
Postage, Telephones and Telegrams ' 5,000
' Traveling Expenses mn 20,000
“Debtors and Creditors ’ 1,25,000 1,00,000
Bad Debts ' 17,250 '
Provision for Doubtful Debts (1 4.2013) - : 7,500
Investments : 2,50,000 ] ' ]
Income from Investments S 25,000
Commission : 50,000 90,000 |
Recovery of Bad Debts : 8,750
. 11,75,000 11,75,000
_ Additional Information:
-1) Following transactions of last week of March, 2014 were not recorded
a) Purchases 310,000
_b) Sales 330,000

¢) Purchase Returns 3,000
d) Sales Returns 3 4,000.

2) Stock on 31.3.2014 was worth X 75,000.

5 @ - [ TURN OVER
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3) Insurance includes < 1,750 relating to the next year.
4) Expenses outstanding as on 31.3.2014:

a) Wages . 74,000
b) Rent, Rates and Taxes ¥ 800
¢) Power and Fuel ¥ 1:500

d) Travelling Expenses 1,500
e) Interest on Overdraft T 1,000. , ' :
5) Provision for Doubtful Debts is to be carried forward @ 5% of Closing Debtors.
M. Sunil desires to create a provision for discount to customers @ 2%. .
6) Depreciate Machinery and Furniture @ 10%. ' g
7) Following transactions of the year were not recorded in any of the books:
a) Samples distributed free T 6,000. ‘
b) Goods utilized for personal consumption of the family of the proprietor Rs. 2,500.
¢) On 31% March, 7014 Sunil received a cheque for Rs. 7,000 from an insurance -
company in respect of goods lost in fire, the cost of which was Rs. 9,000. The
cheque was deposited in the bank only on 1.4.2014. : o
You are required to prepare Trading and Profit and Loss Account of Mr. Sunil for the year ended
31 March, 2014. Also prepare Balance Sheet as on 31% March, 2014 after considering the
additional information. ' :

Q. 2

A) State whether the following statements are true or false. - (08)
1) Compliance with any accounting standard is mandatory. -
2) Fees paid for renewal of license of factory isTevenue expenditure. -
3) Depreciation is non-cash expenditure. ’ '
~ 4) The balance of the Profit and Loss Account is normally transferred to Capital Account.
" 5) The object of non-profit organization is to give social service. o
6) Income and Expenditure Account shows only the expenses pertaining to the current
year. ' '
7)" Specific fund means money set apart for a specific purpose.

8) Fixed installment method of depreciation is also known as original cost method.

B) Fill in the blanks with most suitable words and rewrite the sentence. (08)
1) Goodwill is - Asset.
2) Under the reducing balance method, depreciation is calculated on the
" of an asset. ‘ »
3) Receipts & Payments Account is a account.
4) Interest on drawings is credited to -
_5) Entrance fees should be treated as as per AS-9.
6) Profit on sale of asset is debited to _ Account.
7 Expenditure i8 intended to maintain the fixed assets.
8) Repayment of bank loan is an example of ' " Expenditure.
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Q.3: Followmg is the Recexpts and Payments Accounts of M/s. Loyal Club for the year ended

~31% March, 2014 (16)
Receipts 3 } “Payments <.
To cash in hand on 1* April, 2013 67,500 | By Rent for building 1,006,000 |
To Fashion show proceeds 3,78,750 | By Equipments purchased 90,000
To Subscription 3,37,500 | By Payments for Cosmetics 1,15,000
To Interest on Investments 22,500 | By Fashion show expenses 2,56,250
.To Donation 40,000 | By Honorarium to Beautician 60,000
By Sundry Expenses - 57,500
By Salaries = 1,35,00Q0 -
A By Cash in hand on 31 March, 2014 | 32,500
' : 8,46,250 8,46,250
- Additional Information: ' ‘ :
| Particulars T On 1¥ April, 2013 | On 31° March, 2014
; J 9] L ’
- i. Salary outstanding 11,250 © 15,000
| ii. Stock of Cosmetics- . 75,000 |- . 52,500
" jii. Value:of Equipments 1,62,500 |. 2,20,000
iv. Value of Furniture and Fixture . 3,00,000 - 2,70,000
.v. Amount due to Cosmetic Suppliers 60,000 82,500
vi. Rent paid in advance 7,500 | - 11,250
_vii. Subscription due . 11,250 | 18,750
viii. Subscription received in advance 13,750 16,250 |

Tnterest on Investments received for the full year @ 6% p.2. You are required to prepare Income

- and Expenditure Account for the year ended 31St March, 2014 and Balance sheet as on date of

- M/s Loyal Club. (Show all working).

Q 3 State with reasons whether following are capital oOr revenue expenses or receip ts. (16}

OR -

‘a) Cost of labour and material used for producmg a Machmery for use in own: factory

" b). Import duty on raw materials:

¢) Legal expenses in connection with newly acquired land.

d) Compensation received for Land acquired by the Government.
e) Recovery of a debt previously written off as bad.

f) Proceeds of Machmery sold at a loss.
g) - Cost of whitewashing the factory building.
h)- Subsidy received from State Government.

o

‘
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Section-II -

Q.4: The following information is supplied from which };ou are required to prepare the Trading
and Profit & Loss Account for the year ended 31’it March, 2014 and Balance Sheet as at

that date: .(18)
Assets and Liabilities 31.03.2013 31.03.2014
S .- X
Sundry Assets 2,70,000 | ~3,00,000

- Stock 2,10,000 2,85,000
Cash in hand 1,23,000 | - 712,000
Cash at bank 33,000 ~ 1,20,000
Debtors - 7 3,05,000
Creditors 1,80,000 1,47,000
Miscellaneous Expenses Outstanding 15,000 9,000

_Current year’s transactions are:

Particulars A
Discount credited to Debtors A/c. 30,000
Returns from Debtors 90,000
Bad Debts 30,000
Sales ; Cash and Credit 45,00,000
Returns to Creditors _ 45,000
Payments to Creditors by cheque - 35,43,000
Receipt from Debtors deposited into Bank 38,25,000
Cash Purchases 1,50,000
ySalaries and Wages paid out of Bank 2,70,000
Miscellaneous expenses paid in cash 75,000
Drawings by cash 1,41,000
Purchase of Sundry Assets by cheque - 30,000
Cash withdrawn from Bank * 3,15,000
Cash Sales deposited in Bank 70
Discount allowed by Creditors 60,000.

" Q.5:

A) State whether the followmg statements are true or false with approprlate reason. (08)
1) Carriage Inward and Returns Inwards both show debit balance.
2) E- Commerce has made it possible to buy and sell goods on-line.

* 3) 'In computerized accounting alter option is accessible only to authonzed users.
4) Bad debts are charged to General Profit and Loss account.
5) . Under FIFO method, closing stock is valued at quite closer to the present value. .




ws-Con-2013-5

Con. 8-RS—6752—14. ' 5

6) Sellmg price is taken into censideration while preparing stores ledger.
7) Departmental Accounts are necessary for evaluating departmental efficiency.
8) Cost of Insurance is allocated on the basis of purchases of each department.

B) Answer the followmg ’ ' (08)

1) Calculate the amount paid to creditors if Opening balance % 6,72,000; closing balance
7,06,800; total purchases X 11,86,800; Discount received I 11,040; sales return ¥32,500;
cash purchases X 57,120; Carriage inward ¥ 50.250; Bills Receivable endorsed ¥ 75,000
Endorsed Bills dishonoured ¥ 15,000.

2) Find out purchases ratio of the departments if purchases of Dept.X ? 6,06,600; Dept Y
8,08,800 and Dept. Z ¥ 14,15,400. -

3) Find out Sales ratio of the departments if Sales of Dept. A 3,76,440; Dept. B ¥ 5,24,316;
and Dept. C X 6,75,192.

4) Find out the interest on Capital & Drawings if Capital I 6,00,000 and Drawings

! <1,08,000. Rate of Interest @12% p.a. on capital and @18% p.a. on drawings

Q-6: From the following Trial Balance, prepare Departmental Trading & Profit & Loss Account

for the year ended 31* March, 2014 & the Balance Sheet as at that date. ~ (16)
Particulars : "~ Debit }) Credit )
Stock : (1.4.2013) ’

Department X S 34,000
Department Y 29,000
Purchases and Sales ] ‘
Department X ' 70,800 | . 1,21,600
Department Y- » ] 60,400 - 1,02,500
Wages: : ' -
Department X Co ‘ 16,400
Department Y - 5,400
Rent, Rates and Insurance . 18,780
Sundry Expenses 7,200
Salaries _ 6,000
Light and Heating ' 4,200 i
Discount allowed and Received 4,440 1,300 |
Advertising R 7,360
Carriage Inwards 4,680
Furniture and Fittings . . 6,000
Plant and Machinery ' 42,000
Sundry Debtors and Creditors 12,120 37,200
Drawings and Capital : 9,000 95,320 |
Cash in hand ' _ 340
Cash at Bank ’ 19,800 ‘
' ' . 3,57,920 3,57,920 |

@ ' [ TURN OVER
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The following information is also provided: o
a) Internal transfer of goods from Department X to Department Y X 340.

b) The items Rent, Rates & Insurance, Sundry Expenses, Light & Heating, Salaries and
Carriage Inwards to be apportioned to Department X & Y in the ratio 2:1. _

¢) Discount allowed and received are apportioned on the basis of departmental sales and
purchases (excluding transfers). :

d) Advertisements to be apportioned equally. .

e) Depreciation at 10% per anoum on Furniture and Fittings and Plant and Machinery to be

charged to the Departments X and Y in the ratio 3:1.
)  Services rendered by Department Y to Department X ¥ 1,000.
g) ~ Stocks as at 31 32014, X Department X 33,480, Y Department T 24,100. _ ,
h)  Fixed Assets remain unchanged during the year. : |

- OR
Q-6: From the following particulars, prepare stock register by FIFO as well as Weighted )
Average Method and also find out cost of goods sold by both methods. : (16)
Date Transaction Units Rate per unit )
01/01/2014 Opening stock | - 14,000 < 3.50
03/01/2014 Purchases 24,000 | . 3.80
07/01/2014 Sales 26,000 4.20
11/01/2014 Purchases .30,000 3.90
15/01/2014 | - Sales 34,000 - 4.30
19/01/2014 Purchases ~ 32,000 |. 4.05
23/01/2014 Sales 27,000 4.40
27/01/2014 | - Purchases 37,000 4.10 |
31/01/2014 Sales . 31,200 4.55 | - |
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(3 Hours) o [Total Marks : 100
Note: ) |

1) Attembt all qucsnons from the followmg
2) Figures to the right indicate full marks assigned to the questions.
3) Working note should form part of answer wherever it necessary.

Section-I
‘Q. 1: Following is the Trial Balance of M/s SAB Traders as on 31* March, 2014: (18)
Particulars I » Debit Balances (%) | Credit Balances (3)
Capital . it : B 1,25,000
Bank of India , , ~ 10,000 '
Bank of Baroda ' . - 40,000
1 Stock (1.4.2013) T . : 37,500 ‘
Salaries , ' - : 15,000
Wages - ’ 55,000
Rent, Rates and Taxes B . B - 5,000
Machinery : ' . ' 75,000
Fumiture = » 7,500
Power and Fuel 10,000
Purchases and Sales T 4,50,000 7,50,000 |
Sales Returns and Purchases Returns e 37,500 25,000
Prepaid Insurance as on 1.4.2013 : 1,500 i
Outstanding Wages as on 1.4.2013 : : 3,730 |
Insurance B ) 3,750
Postage, Telephones and Telegrams T 5,000
Traveling Expenses 20,000 ' -
Debtors and Creditors - 1,25,000 . 1,00,000
Bad Debts : 17,250
Provision for Doubtful Debts (1.4. 2013) : 7,500 .
Investments 2,50,000 o
-] Income from Investments : _ 25,000
Commission ' . .. 50,000 90,000
Recovery of Bad Debts . ‘ L 8,750
- : 11,75,000 11,75,000
Additional Information: -
1) Following transactions of last week of March, 2014 were not recorded:
a) Purchases 310,000
b) Sales ° 330,000

'c) ‘Purchase Returns X 3,000
td) Sales Returns 3 4,000.

2) Stock on 31.3.2014 was worth T 75,000

S @ ' I TURN OVER
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3) Insurance includes ¥ 1,750 relatlng to the next year.
- 4) Expenses outstanding as on 31.3.2014:

a) Wages - 34,000
b) Rent, Rates.and Taxes I 800
c) Power and Fuel 31,500

d) Travelling Expenses ~ 1,500
e) Interest on Overdraft ¥ 1,000. . ) )
5 5) Provision for Doubtful Debts is to be carried forward @ 5% of Closmg Debtors.
Mr. Sunil desires to create a provision for discount to customers @ 2%.
6) Depreciate Machinery and Furniture @ 10%.
7) Following transactions of the year were not recorded in any of the boolcs
a) Samples distributed free ¥ 6,000.
b) Goods utilized for personal consumption of the family of the propnetor f 2,500.
¢) On 31* March, 2014 Sunil received a cheque for ¥ 7,000 from an insurance company
in respect of goods lost in fire, the cost of which was ? 9,000. The cheque was -
.deposited in the bank only on 1.4.2014.
You are required to prepare Trading and Profit and Loss Account of Mr Sunil for the year ended
31" March, 2014. Also prepare Balance Sheet as on 31% March, 2014 after considering the
, addmonal mformatxon

| '_ Q-2 '-

A) State whether the followmg statements are true or false. . 08) -

1. Compliance with any accounting standard is mandatory.

Fees paid for renewal of license of factory is revenue expenditure.

Carriage Inward and Returns Inwards both show debit balance.

Bad debts are charged to General Profit and Loss account.

Under FIFO method, closing stock is valued at quite closer to the present value,
Selling price is not to be taken into consxderatan while preparing stores ledger. °
Departmental Accounts are necessary for evaluating departmental efficiency.
Cost of Insurance is allocated on the basis of purchases of each department.

® NP R WN

B) Fill in the blanks with most suitable words and rewrite the sentence. 08)

Goodwill is ' Asset.
Interest on drawings is credited to .
Profit on sale of asset is debited to Account.

. Expenditure is intended to maintain the fixed assets.
Repayment of bank loan is an example of Expenditure.

- Provision for unrealized profit on opening stock should be to General
Profit & Loss Alc.. -
Under-_ . method of stock valuation, fluctuations in prices are .
overcome. . -

8. : - _ are the debts from customers, which are not recoverable.
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Q-3: From the following Trial Balance, prepare Départmental Trading & Profit & Loss Account

for the year ended 31* March, 2014 & the Balance Sheet as at that date. (16)
Particulars Debit (%) Credit 3)
Stock : (1.4.2013) : :

Department X 34,000
Department Y 29,000
Purchases and Sales :
Department X- 70,800 1,21,600 |
Department Y 60,400 1,02,500
Wages : :
Department X 16,400

_ Department Y 5,400
Rent, Rates and insurance 18,780
Sundry Expenses . 0 7,200
Salaries . : T ) 6,000
Light and Heating ' i 4,200
Discount allowed and Received ) 4,440 1,300 o
Advertising 7,360 : :
Carriage Inwards : 4,680
Furniture and Fittings . 6,000
Plant and Machinery 42,000
Sundry Debtors and Creditors : 12,120 ' 37,200
Drawings and Capital - 9,000 . 95,320
Cash in hand 340 '
Cash at Bank . - 19,800 »

. ’ 3,57,920 357,920

The following information is also provided:

a)
b)

c)

d)
e

1

g)
h)

Internal transfer of goods from Department X to i)cpartrnent Y ¥ 840.

The items Rent, Rates & Insurance, Sundry Expenses, Light & Heating, Salaries and
Carriage Inwards to be apportioned to Department X & Y in the ratio 2:1.

Discount allowed and received are apportioned on the basis of departmental sales and
purchases (excluding transfers). ‘

Advertiscments to be apportioned equally.

Depreciation at 10% per annum on Furniture and Fittings and Plant and Machinery to be
charged to the Departments X and Y in the ratio 3:1.

Services rendered by Department Y to Department X ¥ 1,000.
Stocks as at 31.3.2014, X Department X 33,480, Y Department ¥ 24,100.
Fixed Assets remain unchanged during the year.

OR
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Q-3: From the following partiéulars, prepare stock register by FIFO as well as Weighted

.Average Method and also find out cost of goods sold by both methods. (16)
Date Transaction Units Rate per unit ()

01/01/2014 Opening stock 14,000 3507
03/01/2014 Purchases 24,000 3.80
07/01/2014 Sales 26,000 420
11/01/2014 Purchases 30,000 3.90
15/01/2014 Sales 34,000 4.30
19/01/2014 Purchases 32,000 405
23/01/2014 Sales 27,000 4.40
27/01/2014 Purchases 37,000 4,10
31/01/2014 Sales 31,200 4.55

Section-II

Q.4: The follqwing information is supplied from which you are required to prepare the Trading
_ and Profit & Loss Account for the year ended 31% March, 2014 and Balance Sheet as at

~ that date: (18)
Transactions during the year ended 31% March, 2014 are:

Particulars . ‘ T
Discount credited to Debtors A/c. 30,000
Returns from Debtors 0,000
Bad Debts 30,000
Sales : Cash and Credit 45,00,000
Returns to Creditors 45,000
Payments to Creditors by cheque 35,43,000
Receipt from Debtors deposited into Bank 38,25,000

‘ - Cash Purchases 11,50,000
Salaries and Wages paid out of Bank o 2,70,000
Miscellaneous expenses paid in cash -~ 75,000
Drawings by cash 1,41,000
Purchase of Sundry Assets by cheque .. 30,000 |
Cash withdrawn from Bank 3,15,000
Cash Sales deposited in Bank ?
Discount allowed by Creditors 60,000
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_ Assets and Liabilities 31.03.2013 31.03.2014
o ' ) B ¢ B
Sundry Assets - 2,70,000 - 3,00,000
Stock : 2,10,000 2,85,000
Cash in hand -.1,23,000 72,000
Cash at bank 33,000 1,20,000
Debtors 7 3,05,000
Creditors 1,80,000 1,47,000
Miscellaneous Expenses Outstandmg 15,000 9,000

- Q.5:
A) State whether the following statements are true or false. - (08)

1) Single entry system follows the basic Accounting principal of accrual.
2) All expenses incurred by the consignet are debited to his Account.

3) Inconsignment Accounting, sales account & account sales are synonymous terms.
4) Balance in good sent to branch account is transferred to credit of Profit & loss account.
5) Branch account under debtors system is a real account. ‘
~ 6) Output device are the brain of the computer.
7) Hard disk is not a storage devise.
8) Loadin opemng stock is adjusted by crediting stock reserve account.

B) Fill in the blanks with most suitable words and rewrite the sentence. (08)
1) Tally follows the concept of accounting.
2) is the basic software forming the link between the Computer and the
-User. '

3) _1is both an Input and Output Device.
4) The designers, programmers and operators together are known as
5) The first step in Tally 9 is

- 6) Del credere commission is calculated at a certain percentage on
7) Cash remitted by Branch to Head Office is credited to
8) Loading is a difference between _ and cost.

Q.6: Fancy dress maker of Mumbai consigned 1,600 bales of goods to Mr. Avdhoot of Kalyan.
The cost price was I800 per bale but the invoice was made ont to show a gross profit of
25% on cost price. Mr. Avdhoot sold Three fourth of the consignment at a profit of 25% oa -
sales and incurred X 10,000 on account of freight and landing charges and also paid 6,000
of godown rent exclusive commission. Consignor spent X5,000 earlier as expenses. Mr.
Avdhoot is entitled to a commission of 5% on sales and 20% of sales less consignee’s
expenses as bonus after charging both commission and bonus. Mr. Avdhoot sent a Bank
Draft for the balance due. Prepare necessary accounts in the books of Consignor and

Consignee. : . . (16)

@ | | [ TURN OVER
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. Q.6: A Head office in Mumbai has a Branch at Bhiwandi to which goods are invoiced at cost

plus 25%. All expenses of branch are to be paid by head office except petfy cash expenses

and branch remits-all cash received to the head office. From the following particulars

show how the Branch Account will appear in the Head office books. (16)
Particulars . - 3
Balances on 01/04/2010: o
Stock o 2,00,000
Branch Debtors X oo 1,94,000
Computer : , 3,60,000
Petty Cash | _ 10,000
Furniture : ) 40,000
Goods sent to the Branch 11,20,000
Returns from Debtors - 40,800
Total sales ' : - : ' . 16,80,000
Cash sales - . 3,60,000

| Cash received from Debtors B . 11,00,000 |
Goods returned to the Head office 1 48,000
Petty Expenses paid by Branch Manager . 13,600
Cheques sent to branch for:
Salaries . - 1,68,000
Rent and Taxes . ‘ - 72,000
Petty Cash o : 14,000
Showroom Expenses . 40,800
Stationery - ) . 10,400
Allowances to Debtors - 7,200
Discount allowed to Debtors © - 9500
Bad Debts © 7,600
Balances on 31/03/2011:
Stock 2,40,000 |
Branch Debtors - ' ‘ ?
Computer : ?
Petty Cash ) 7
Stationery " 1,600
Furniture ‘ : . 7

Provide de reciation on Computer @ 15% p.a. and on Furniture @ 10% p.a.-
P Pt P _
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N.B. : (1) Question No. 1, 2 and 3 of section-I and question No. 7, 8 and 9 of section-II are
compulsory.
(2) Attempt any one question from questlon nos. 4 5 and 6 of section—I and any one quesuon
queston from question nos. 10, 11 and 12 from section-IL
Section I

1. (2 Study the world map printed below and answer the following questions :— 5

(i) What is the theme of the map ?
(ii) Name the cartographic technique used to represent the theme.
(iii) Name the countries having the least and maximum gross national income per
capita 2007. .
(i) With the help of the scale find-out gross natlonal income per capita of Seuth

Amencan counm&s ?

[TURN OVER
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(b) Mark and name the following features on the outline map of world provided to you
(Refer Page No. 8) -~
(i) A country with highest deforestation rate in South America.
(ii) An area rich in biodiversity in India.
(iii) An area in North America having physical water scarc1ty
(iv) A Gulf in the West Asia having problems of oil spill.
(v) An earthquake prone island country in far East Asia.

2. Write short notes on (any three) —

(a) Causes of Starvation

(b) Man—environment relationship
.(¢) Non-renewable source of energy

(d) Population policy of India

(e) Food chain and Food web

(f) Conservation of water.

3. Read the following ‘Case Study’ carefully and answer the questions asked -
_Case Study I :— Raigad farmers vote against reliance SEZ

In a recent first-ever referendum involving farmers held in India, more than 6, 000

farmers of 22 Raigad villages have expressed their dissent against the propesed special
economic zone of the Reliance Group there. It is a clear indication that acquiring land in the
Konkan area for its multi-crore SEZ project is not going to be an easy task for the Reliance
Group.

The proposed SEZ of the Reliance Group is gomg to be amongst the biggest in India.
~ Tt requires 10,000 hectares of land, of which 3,000 hectares fall in the 22 villages located
in the Hetwane dam area. Maharashtra has a total of 131 SEZs that will see an investment
of ¥ 1.35 lakh crore in the state. In the process, it will create 6-lakh job opportunities. As
per reports, Mukesh Ambani is offering profitable compensation packages to farmers, but they
are still not ready to budge from their stance.

The notification issued by the Maharashtra Government in June, 200’! for the land

acquisition under Section 6 of the Land Acquisition Act in some villages for the RIL-promoted
- Mumbai Special Economic Zone Ltd. project in coastal Raigad district of Maharashtra lapsed
on 8 June, 2009. The company has therefore put on hold the ¥ 40,000 crore, 10,000 hectare

15

10

multi-product SEZ project until the Bombay High Court rules on a clutch of petitions on Iand

acquisition for the project filed by NGO's and local farmers. Earlier on the 5t June, 2009,
the Supreme Court had dismissed RIL's plea to stay the land acquisition process. The company
thus does not want land acquisition against the backdrop of the apex court order and the
prevailing opposition in v111ages
Questions — '
(a) Why itis not easy task for the Reliance Group to acquiring land for ‘SEZ’ project
in the Konkan area ?

(b) Explain in detail the notification issued by the Maharashtra Government in Jmmte,»v

2007 for the land acquisition.
(c) Which ‘SEZ’ project are coming up in Maharashtra ?
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7. (@

®)

Explain the inter-relationship between the various components of environment.
Explain with suitable examples the role played by technology and man-in bringing .
about environmental disorder. '

RS-

Explain the term resource, explain different types of resources with examples.
Explain the various methods of conservation of forest.

Describe the contemporary trends in growth and distribution of world p.o_pulation.
Describe the Human Development Index (HDI).

Section IT

N e ) e

Mark and name the following on the outline map of Mumbai supplied to you (Refer 5
Page No. 9) — o
(i) Creek lies between Mumbai suburb and the main land.
(ii) The northern most hill of Mumbai. o
(iii). Highly polluted river flowing nearer from International Airport of
Mumbai. ' ‘ :
(iv) Locate any one suburban railway station on central railway between C.S.T.
and Kurla stations. '
(v) Mark the largest lake of Mumbai.

Mark and name the following on the outline map of Konkan supplied to you (Refer 5
Page No. 9) - ' , , ,
(i) Southern most district of Konkan. )
(i) Mark the railway station on Konkan railway located in between Rajapur Road
- and Kudal railway station. . : :
(iii) The port of Ratnagiri district experiences the problem of marine erosion.
(iv) The area famous for horticulture in Thane district. :
(v) A famous hill station of Raigad district.

8. Write short notes on any three of the following — 15

(a) Medical tourism in India

(b) Types of drought

(c) Desertification

(d) Special economic zones (SEZ)
(e) Disposal of garbage '
() Acidrain.

9. Read the Case Study listed below and answer the associated questions :— 10
Case Study 9 :— Mumbai Floods 26/7 - '

The Mumbai floods were caused by the eighth heaviest ever recorded 24-hour rainfall-

 figure 0f994 mm (39.1 inches) which lashed the metropolis on 26 July, 2005, and intermittently
continued for the next day. 644 mm (25.4 inches) was received within the 12-hr period between

[TURN OVER
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| 8am and 8pm. Torrential rainfall continued for the next week. The highest 24-hour period in

India was 1,168 mm (46.0 inches) in Aminidivi in the Union Territory of Lakshadweep on 6
May, 2004 although some reports suggest that it was a new Indian record. The previous record

' ~ high rainfall in a 24-hour period for Mumbai was 575 mm (22.6 inches) in 1974.

The financial cpsf of floods was unprecedented and these floods caused a stoppage of 7
entire commercial, trading, and industrial activity for days. Preliminary indications indicate

that the floods cansed a direct loss of about 3. 450 crores (£80 million or US $100 million).
The financial impact of the floods were manifested in a variety of ways. ‘
" For the first time ever, Mumbai’s domestic and international airports (mcludmg

- Chatrapati Shivaji International Airport, Sahar and Juhu acrodrome) were shut for more

than 30 hours due to heavy flooding of the runways and extremely poor visibility. Over
700 flights were cancelled or delayed. The airports reopened on the morning of 28 July,

- 2005. Within 24 hours of the airports becoming operational, there were 185 departures

and 184 arrivals, including international flights. Again from early morning of 31 July,
with increase in water logging of the rumways and d1ﬂ'erent parts of Mumbai, most of

the flights were indefinitely cancelled.

Rail links were disrupted, and reports on late evening of 30 July indicated cancellation
of several long distance trains up to 6 August, 2005.
The Mumbai-Pune Expressway, which witnessed a number of landslides, was
closed for the first time ever in its history, for 24 hours.
According to the Hindustan Times, an unprecedented 5 million mobile and 2 3
million MTNL. landline users Swere hit for over four hours.
~ According to the .in registrar (personal communication), the .in DNS servers in

 Mumbai had to be reconfigured because the servers were not operational.

Factors aggravating the disaster in Mumbai :—

Antiquated drainage system : The present storm-water dramage system in Mumbai
was put in place in the early 20th century and is capable of carrying only 25 millimeters
of water per hour which was extremely inadequate on a day when 994mm of rain fell

_ in the city. The drainage system is also clogged at several places.

10.

- Uncontrolled, unplanned development in Northern Suburbs : Unlike South
Mumbai, development in northern suburbs of Mumbai is haphazard and buildings are
constructed without proper planning. The drainage plans in northern suburbs is chalked
out as and when required in a particular area and not from an overall point of view.
Questions —

@) Why did Mumbal causes flood ?

(b) What was the financial loss due to 26/7 flood in Mumbai ?
(c) What were the effects of the 26/7 flood in Mumbai ?

(d) Explain the factor: aggravating the disaster in Mumbai.

(@) Explain in brief the econoh:_ic and environmental impact of tourism.
(b) Explain the role of transport and telecommunication in spatial interaction.

-
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11. (@) Explain the important types of Natural Disasters.
(b) Explain the causes and consequences of flood.

. 12. (a) Explain in brief the e major environmental movements in India.
O Explam in brief —

(1) Wild life (protectlon) Act, 1972. ’
(2) The Air (prevention and control of pollution) Act, 1981.

N0 20

(s wwiw) < -
- (3 TM) S [GEU UL : fo0
T (}) ﬁrmm%ﬂam% 2, ?mﬁraa%mm%ﬂamﬁ o, ¢

Q ¥ rframd e,
(R)’ﬁmmzﬂammx?hwﬁmﬂaﬂaﬁmmﬁWaﬁrm
| Frmdia 7 %. g0, 22 T £ ¥R FivaTd ww wrean.
(3) IMEAYHR TETAH Hes FUSH FTAUCIERT ver.
‘ ' Tramr ¢ )
%. (a)mﬁﬁmma@aawwmmﬁm Y
(AT UE T ¢ T UG :-
(]) emTerr=n forwy @t TR ?
(R) THTIITG HIICHT THTREG GAT AR FAT AR ?
(3) Rool T ST~ Wmm—aﬁ@mn@amm
UCICICRRE "
(x)wmﬁawnms@nmﬁmaﬁ&ﬁa%&m%@mm
3cud ferg.

(%) Gi’llmwmgaﬁﬁmm@qa?ﬁ%a(mﬁchmw) - Y
(}) waifys siTa die wreen i smfehdia aw -
() vRadE Seafagdne’ fgaa swumR &=
(3) I smfadier Aufife qoft <= 8
(x) 3w efitmmdte wgst s’ 9 %aﬁmww ﬁ@mra'a
U@W%‘?W%‘d

2. a‘m f%ra (roreargl i) ;- | T
(37) SUTERER HRO!
() AHI-TATIROT ER qE Y
(%) qmiifda 7 o 39t wem
(3) TR THEEIT
(3) -=-UTEE T AH-TD

CIEGEECEH |
@

[TURN OVER




D:MG-Feb.—14-22

Con. 12-RS-6764-14. - 6

3. I W AT SASATEERS (Case study) 3Rd Q@ Wieal (U GwOleb UgT) - g
(31) Trerme=a guert SEZ shRdm wishunded SHiA HuTe S0 Fgd dae | ATeY 7
(97) HERTSY YTEATET STHH TUTE STEATRT— 0 oty FITEARTTR TS FHl,
(%) I SEZ Wehed AeAT HERTSGT ge 3R 7

¥. (a)w@ﬁﬁﬁﬁamﬁwﬂﬂaﬁamm. . ¢

(%) TSRO ST WIHE ST GANTET EWET TSl Al | °
4. (a)mwﬁ%m@wwwﬁﬁawmmmwﬁ%mmﬁsﬁww ¢
@) mwﬁ%mﬁqmﬁﬁamﬁﬁww e
6. (31) auferde sieaes s S q%é’f Ji= Fui H. e

_(a') AT Wﬁﬁ ﬁifs@ (HDI) aqu . 4 )
B fawm 2 | o
. (a)gaé—mmﬁgaﬁama@qgwraﬁméfam(mﬁmq %w) - Y

- (?) ﬁaﬁwmﬁgﬁmﬁmﬁmw

(R) [ag=an SWHS IFAUR] 2! |

- (3) waifus gftm 7 srawre fmmdessEen aed

(¥) #.ea. W@'ﬂfmﬁﬁﬁm@ﬁémnw%ﬁaﬁﬁ
() Eaa‘aﬁauafaﬁam

(a) FIFUT TEHTIE (eI U< T e A1 e (W%f T A QTR - A
(1) =Iwude gafa sfaoeeta fea
(R) wIHY ITaade TSRS W@Wﬁéwuﬁwnﬁﬁém
(3) TTRRt Rreande arrt 3ie ga STEum et |
(¥) weweea STETS! S e yfig swum fewm
(v) e fNeamde ufag o @2 fewmor. - |
¢. A ferer (Fwvreardt o) - A R Lt
(37) wRaTdTel duhg v o
(9) gH@E THR
(%) maa?ﬂw
(3) fomiw ¥ &7 (SEZ)
(3) Fa=arh faeare
(%) 3ifee W / e weiea.

BN

&




D\AG-Feb~14-23

. Con. 12-RS-6764-14. 7

R. gﬂammawm@(c%esmdy)w@a%@w(wywﬁmm) - %0
(37) qeda HETR HIM[S AT ¢
(@) %/ = ARTIE e fedt eanffe gwuE ame ?
(%) R&/% A TEIRR Fogawd ffey whomm s
(3) gesa HRIR Avamrrh HR0 e #40. |

20. (aw)mfz#ﬁarr&faaaﬁwfa@ﬁﬁqﬁummm | ¢
() ﬁﬁwmw/ﬁwﬁwmm@wamm@mm ®
' W S :
23. (é)ﬁ%rﬁham?n%mﬁmmm. | c-
(%) HRgTE RO Ifer uitomm fame w4, o | o
2R. (a)wmang@wfawﬁamaﬁ%mwm , ¢,
() FreTTa TSR R :- | ‘ o

(R) =l weaor FAT-LR063
() T wewor flr FRiwr wEe-2Rek.

[TURN OVER




D\AGFeb—-14-24

Con. 12-RS-6764-14. 8




! | ! I ;
) | | ~ _
! [ | | I
! I | |
| | } ! '
_ | i | i
1 _ Lo
) ! _ b
_ ) P |,
1 i b .
| ol i |
_ ! | i |
| b P
L I , _
} | | I _
9 - e WS MRSE P S M Smea b GG Gk e W e Ve M b SSRA G SRS G B e S e G WA G Gwele  BAAR  eeie G ey
) 1 | I
| | i P
) i ! _ |
L | ! '
| | i | | |
1 ) | | i |
| | ! i |
| I i | i _
! _ | ! | '
< ! | ! _ |
H | ] i | §
3 T T
= | | | _ i
| m ' T R |
| 9 _ | | ! !
M_M W_w
| 15
1 Z 0






